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Sociology

Paper I1I
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Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions. Each question

[Maximum Marks : 100

carries Two (2) marks. Attempt All questions.
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In Marxian analysis, scientific
knowledge, skill and technology
employed in the process of

production, is known as :
(A) Means of production
(B) Forces of production
(C) Mode of production

(D) Relations of production

The behaviour that violates the
social norms of a given society is

termed as :

(A) Social Disintegration
(B) Social Deviance

(C) Abnormal Behaviour

(D) Anti-Social Behaviour
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Whose theory of self emphasizes
that, individual’s self is the product

of social interactions ?

(A) C. H. Cooley

(B) Max Weber

(C) Vilfredo Pareto

(D) B. F. Skinner

Which of the following factors makes
clear the substance of Social

Stratification ?

(A) Social Inequality

(B) Social Differentiation

(C) Social Categorization

(D) A system of evaluation, ranking
and differential rewarding of

roles in society
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The process that regulates

behaviour of the member of society

is termed as :

(A) Social role

(B) Social prevention

(C) Social control

(D) Social engineering

Which one of the following is not a

feature of caste system ?

(A) Exogamy

(B) Ritual hierarchy

(C) Purity and pollution

(D) Division of labour based on

ascription
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Select the correct match :

(A) Anutoma—Marriage between
a higher caste woman with a

lower caste man

(B) Pratiloma—Marriage between
a lower caste woman with a

higher caste man

(C) Monogamy—Marriage
between one man and one

woman

(D) Endogamy—Marriage
between persons of different

Caste and Gotra

Which of the following is not true

about education ?
(A) Helps to raise one’s social status

(B) Helps to accelerate social

mobility
(C) Helps to promote social change

(D) Helps to maintain social

inequality
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10.

11.

Which of the following is the

primary agency of socialization ?
(A) College

(B) School

(C) Family

(D) Mass media

Who coined the term ‘Primary

Group’ ?

(A) C. Cooley
(B) F. Tonnies
(C) H. Spencer
(D) R. Brown

Which of the following is relatively

more important and broad

component of culture ?
(A) Non-material culture
(B) Material culture

(C) Normative culture

(D) Cognitive culture
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12.

13.

Time gap that occurs when changes
in material culture come more
rapidly than non-material culture is

known as :

(A) Linear change

(B) Cyclical change

(C) Cultural diffusion

(D) Cultural lag

Identity the correct statement :

(A) Status is the dynamic aspect of

social role

(B) Social role is the dynamic aspect

of social status

(C) Social role can operate without

social status

(D) Status is dynamic while role is

fixed

12.

13.

NOV. - 14211/11

arefifaes Gxpduen ifdew Sehdid 9

qfierd Bid 3THAMT S 37 FHior B9 =&me

S WA 7
(A) TR qiEdq
(B) Tsha gfiedq

(C) TrEpfas FERo

(D) Grpfae 9=

aGg foguE w9 lesEn

TSN

(A) TSI & AR fteh=n Tdreia dep
e

(B) wrHifSie offtrent & @I St
TR a9 3T

(C) WIS SSREr arHifsieh yfiren

IR gredr Id

(D) <=1 &1 Tiaeial 7ar, @ fhekt &
feer s/q




14. When two or more persons mutually

15.

16.

influence each others’ behaviour; the

process is labelled as :
(A) Social Event
(B) Social Behaviour
(C) Social Action
(D) Social Interaction

Which term is used to denote the
researches’ bias in sample selection

procedures ?

(A) Purposive Sampling

(B) Non-purposive Sampling
(C) Scientific Error

(D) Sampling Error

A predetermind list of questions to

collect responses from the

respondents is called :
(A) Interview

(B) Questionnaire
(C) Survey

(D) Observation
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17.

18.

19.

Which of the following primarily
acts as a formal agency of social

control ?

(A) Association

(B) Education

(C) Law

(D) Reference Group

The measure of central tendency
used to describe the most frequently
occurring category of a non-numeric

variable is termed as :
(A) Mean

(B) Median

(C) Correlation

(D) Mode

According to positivistic school, the
researcher has to study social

phenomena :

(A) Subjectively
(B) Objectively
(C) Emotionally

(D) Ethically

17.
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20. A statement about interrelationship

21.

22.

between two variables in the context
of a research question is termed

as :
(A) Concept
(B) Hypothesis
(C) Theory
(D) Paradigm

In which process lower caste follows

the higher caste ?

(A) Civilization

(B) Modernization

(C) Sanskritization

(D) Westernization

Gender is :

(A) Biological Construct

(B) Socio-Cultural Construct
(C) Ecological Construct

(D) Moral Construct
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23.

24.

The general standards in terms of
which people decide about the
behaviour as good or bad, right or

wrong are referred to as :

(A) Relational Norms

(B) Regulative Norms

(C) Social Norms

(D) Cultural Values

Consider the following statements :
Assertion (A) :

The process of social change is a

complex phenomenon in India
Reason (R) :
The

witnessed rapid changes due to

Indian social structure

colonialism.

Of these two statements :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) the

explanation of (A)

is not correct

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false
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25.

26.

According to Mead, an action that

implies reaction is termed as :

(A) Gesture

(B) Social action

(C) Act

(D) Symbol

‘We belong to associations but not

to institutions’ means :

(A) Associations and institutions

are opposed to each other

(B) Associations are group of people
whereas institutions refer to set

of rules and regulations

(C) Associations are modern and

institution are traditional

(D) Associations are many and

institutions are limited
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27.

28.

Who is known for his concept of

social action ?

(A) V. Pareto

(B) K. Marx

(C) E. Durkheim

(D) M. Weber

Consider the following statements :
Assertion (A) :

Social movements have generated
an awareness among the deprived

groups in India
Reason (R) :

These movements obstruct the

process of economic development.
Of these two statements :

(A) Both (A) and (R) are true and

(R) is the correct explanation of
(A)

(B) Both (A) and (R) are true and
(R) the

explanation of (A)

is not correct

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false
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32.

33.

34.

According to Durkheim, pre-
industrial societies were held

together by :

(A) Organic Solidarity
(B) Social Solidarity

(C) Mechanical Solidarity
(D) Group Solidarity

Who is the author of “The Rules of
Sociological Method” (1895) ?

(A) E. Durkheim
(B) T. Parsons
(C) R. Merton

(D) R. Dahrendorf

Which thinker is known for his

theory of Surplus Value ?
(A) Dahrendorf

(B) Max Weber

(C) Wilfredo Pareto

(D) Karl Marx
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35.

36.

Which structuralist theorist put
forth the “Alliance theory” which
emphasizes the importance of

marriage in society ?

(A) Nadel

(B) Radcliffe Brown

(C) Levi Strauss

(D) Karl Marx

In Marxian formulation ‘class-in-
itself gets transformed into ‘class-

for-itself by acquiring :

(A) Wealth

(B) Conflicting economic interest

(C) Class antagonism

(D) Class consciousness
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37.

38.

39.

Who among the following has
classified society as Militant Society

and Industrial Society ?
(A) Max Weber

(B) Herbert Spencer
(C) Emile Durkheim
(D) Karl Marx

Which of the following is not a type
of authority given by Max Weber ?

(A) Ideal
(B) Legal
(C) Traditional
(D) Charismatic

The process used for making the

criminal once again fit for

accommodating in society is termed

as :
(A) Adult socialization
(B) Re-socialization
(C) Socialization

(D) Sex-role socialization
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40. Which of the following method is | 40. WeliciUeh! HIVET Ygdiel s&ALT A
called as unobstrusive method ? FIOT Tl U TNyl S ?
(A) Case study (A) Te-31qH
(B) Content analysis (B) ™ fagerso
(C) Survey (C) Tl
(D) Visual method (D) g Tl
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numbers ? (A) T
(A) Average
(B) #&HHM
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(C) Median
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43.

44.

Oral History method becomes highly

relevant in the context of :

(A) Analysing life experiences of

marginalised groups

(B) Analysing relationship between

variables

(C) Analysing quantitative data

(D) Analysing archival documents

The acceptance of a minority group
by a majority population, in which
the group takes on the values and
norms of the dominant culture, is

referred to as :

(A) Assimilation

(B) Acculturation

(C) Integration

(D) Accommodation

43.
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45. A research technique in which the | 45. <1 G9¥A dHMHed IdeR 01 39l
variables are kept under control is Y W AT I R ?
called :

(A) Hetrerd
(A) Interview
(B) -HATIGl
(B) Sampling
(C) JaITISdl
(C) Experiment
D) wewrl fem
(D) Participant observation D)

46. The technique to isolate the effect 46. TRT TIRTS F€dA AT TTd3
of a particular independent variable TRIATTIT JTe ST RTGUATETS]
on the dependent variable is known IR R e 1 ) P 0 o 3 | s
as :

(A) =R foaweiom
(A) Multivariate analysis

Y (B) Tt fargerem

(B) Deductive analysis

(C) formareHer fergeiom
(C) Inductive analysis

(D) 7 fagersm
(D) Abstract analysis
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. FRUIdld.
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A) R favery
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(D) S g
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48.

49.

50.

Objectivity in social science research

implies :

(A) Value reference

(B) Value judgement

(C) Value accommodation
(D) Value orientation

Which of the following is a type of

non-probability sampling ?

(A) Simple Random Sampling
(B) Systematic Sampling

(C) Stratified Random Sampling
(D) Purposive Sampling

Evaluating the behaviour of
members of other group in terms of
norms and values of one’s own group

is termed as :

(A) Cultural pluralism
(B) Cultural trait

(C) Sub-culture

(D) Ethnocentrism

48.
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